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1.

ANTHROPOLOGY
Paper — 11
Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

questions are compulsory.

An extensive study on ‘magic’
among human societies was done by
(A) Franz Boas

(B) Emile Durkheim

(C) McLennan

(D) James Frazer

The central reference point from
which all relationships can be traced
on a genealogical diagram, is

(A) Id (B) Ego

(C) Centrum (D) Super ego

‘Social Organization’ according to
Radcliffe Brown refers to the study
of

(A) Roles
(B) Statuses
(C) Groups

(D) Associations

Those aspects of society that are

considered ordinary, having no
special religious significance, is
known as

(A) Profane (B) Sacred
(C) Secular (D) Spiritual

Alzheimer disease leads to
(A) Malnutrition (B) Diabetes
(C) Cancer (D) Dementia

‘Race’ refersto a

(A) Cultural category

(B) A non-biological reality

(C) A classification which s
arbitrary

(D) All of the above

Among the living apes, the
genetically closest to humans is

(A) Gorilla

(B) Chimpanzee

(C) Orangutan

(D) Gibbon
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8.

10.

11.

12.

A statistical technique showing
relationship between two variables :
(A) Regression

(B) Correlation

(C) Standard Deviation

(D) Standard Error

Plio-Pleistocene boundary IS
determined by the presence of villa
Franchian fauna. These fauna include
(A) Species of Aves

(B) Species of Lupus

(C) Species of Bos

(D) Species of Dinosaurs

Prehistoric art is found all through the
upper Palaeolithic period. This art best
exemplified by the site is known as

(A) Combe-Grenal

(B) Altamira
(C) Laugerie-Haute
(D) Parpallo

Cultural variability is a function of
I. Physical features of a country
ii.  The adaptability of the people
iii.  Technological differences

iv.  Cultural similarities

Codes :

(A) i, i, ivand iii are correct.
(B) i, ivand i are correct.
(C) i, iiand iii are correct.

(D) v, iii and ii are correct.

Quantitative Research aims at

I.  to quantify variation

ii.  to predict causal relationship

iii. to describe characteristics of a
population

iv. to describe an individual’s
experience

Codes :

(A) i, iii & iv are correct.

(B) i, i & iii are correct.

(C) i, 1ii & iv are correct.

(D) i, ii & iv are correct.
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13.

14.

15.

16.

17.

Which among the following are
considered as property among the
most vulnerable tribal societies ?

i Land

ii. Cattle

iii.  Tools and implements

iv.  Precious metals ornaments
Codes :

(A) i, iiandiv are correct.
(B) i, iii, iv and i are correct.
(C) iii,ivand i are correct.
(D) i, iiand iii are correct.

The VI Schedule of the Indian
Constitution is applicable to the areas
in the following States :
I. Assam ii.
iii.  Tripura (\2
(A) v, iii &ii are true.
(B) i, ii &iii are true.

Meghalaya
Jharkhand

(D) i, iii & iv are true.

Which of the pairs is correctly

matched ?

(A) ABO blood -T.H. Morgan
group system

(B) Rh blood —Karl
group system  Landsteiner &
A.S. Weiner
(C) Pharma- —W.S. Sutton
cogenetics
(D) Phenylke- -J.B.S. Haldane
tonuria

Which of the following pairs is not
correctly matched ?
(A) Haemophilia —Sex-linked

recessive
(B) Sickle cell —Autosomal
disease dominant
(C) Beard —Sex limited
development
in man
(D) Turner’s -XO
syndrome
Racial Classification of World
Population was given by
(A) Risley
(B) Sauk
(C) Guha

(D) None of the above
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18.

19.

20.

21.

Tertiary period includes
(A) Miocene and Pliocene only
(B) Oligocene and Palaeocene only

(C) Pliocene, Miocene, Oligocene,
Eocene and Palaeocene

(D) Eocene and Miocene

Fire for cooking was used for the
first time by

(A) Homo-Neandarthalensis
(B) Pithecanthropus Erectus
(C) Homo-sapiens-sapiens

(D) Sinanthropus Pekinensis

Remains of the lower Palaeolithic
culture in India are found at

(A) Langhnaj

(B) Navdatoli

(C) Burzahom

(D) Attirampakkam

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R) :

Assertion (A) : Emic Approach in
Anthropological research is
useful to trace out the ‘insiders
views’ on the research problem.

Reason (R) : It helps the
Anthropologist to give
semantic explanations about
the research problem from
people’s perspective.

In the context of the above

statements, which of the following is

true ?

Codes :

(A) Both (A) and (R) are not the
correct explanation of (A).

(B) (A) is false and (R) is true.

(C) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(D) (R)is false and (A) is true.
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22. Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R) :
Assertion (A) : Little community is
characterised by  subsistence
economy.

Reason (R) : Such a community
satisfies all needs of its members
from birth to death.

In the context of the above two

statements, which of the following is

correct ?

Codes :

(A) Both (A) and (R) are true and (R)
is not the correct explanation of
(A).

(B) Both (A) and (R) are true, (R) is
the correct explanation of (A).

(C) (A)is false, but (R) is true.

(D) (R)is false and (A) is true.

23. Given below are two statements. One
is called as Assertion (A) and the
other is labelled as Reason (R) :
Assertion (A) : Divination is done

to foresee future events or
uncover the causes of past
events.

Reason (R) : Human beings
often attempt to control the
forces of the universe.

In the context of the above two

statements, which one of the

following is correct ?

Codes :

(A) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(B) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.
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24,

25.

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R) :

Assertion (A) : Despite various
developmental programmes
made for the scheduled castes
and scheduled tribe
communities in India, majority
amongst them are socio-
economically backward.

Reason (R) : Fruits of
developmental programmes
have not reached the scheduled
castes and scheduled tribe
communities as desired by the
planners.

Codes :

(A) (A)is false and (R) is true.

(B) (A)istrue and (R) is false.

(C) (A)istrue and (R) is also true.

(D) (A)isfalse and (R) is also false.

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R) :
Assertion (A) : In  sickle  cell
anaemia, glutamic acid in the
beta chain is replaced by valine.

Reason (R) : Sickle cell
haemoglobin is caused by a
point mutation.

In the context of above two

statements, which one of the

following is correct ?

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.
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26.

27.

28.

Given below are two_statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R) :

Assertion (A) : Racism IS a
biological concept.

Reason (R) : Racism leads to
prejudice.

In the context of the above two

statements, which one of the
following is correct ?
Codes :

(A) Both (A) and (R) are true and SR)
is the correct explanation of (A).

(B) Both (A) and (R) are true and
(R) is. not the correct

explanation of (A;._

EC; EA? is true, but (R) is false.

D) (A) is false, but (R) is true.

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R) :
Assertion (A) : Molecular
Anthropolo%¥_ is one of the
i

evolving subfields of biological
anthropology. )
Reason (R) : Development in

Molecular Anthropology is due
to the advancement in the
Human Genome Project.

In the context of above two

statements, which one of the
following is correct ?
Codes :

(A) Both (A) and (R) are true and SR)
IS the correct explanation of (A).

(B) Both (A) and (R) are true and
(R) is. not the correct
explanation of (A;._

EC% EA? Is true, but (R) is false.

D) (A) is false, but (R) is true.

Given below are two_statements, one

is labelled as Assertion (AEQand the

other is labelled as Reason (R) :

Assertion (A) : Habitual ~ erect
posture and bipedalism are
exclusive human traits. )

Reason (R) = : There were major
anatomical change in the
human skeleton during the
course of evolution.

In the context of the above two

statements, which one of the
following is correct ?
Codes :

(A) Both (A) and (R) are true and SR)
is the correct explanation of (A).

(B) Both (A) and (R) are true and
(R) is. not the correct
explanation of (A;._

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.
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29.

30.

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R) :

Assertion (A) : It was due to
technological advancement that
Neolithic men were able to
produce their food.

Reason (R) : Food  production
led to an available surplus to
maintain a larger population.

In the context of the above two

statements, which one of the
following is correct ?
Codes :

(A) (A) is correct, but (R) is wrong.
(B) Both (A) and (R) are correct.
(C) (A)iswrong, but (R) is correct.
(D) Both (A) and (R) are wrong.

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R) :

Assertion (A) : Microliths were
manufactured by  fluting
technique during Mesolithic
culture.

Reason (R) : Microliths were
used to make composite tools
because they were able to
economize raw materials.

In the context of the above two

statements, which one of the
following is correct ?
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.
(D) (R)istrue, but (A) is false.
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Wid % HROT G AUEH
AHaTeRT | e gen € |

ST & HUA b GgH H AT o

T B AT TR 2

%

(A) (A) ¥R (R) T ¥ € 3R (R),
(A)FI TRl == E |

(B) (A) ¥R (R) 3wl ¥ € 3R (R),
(A) F Tel e TR T |

(C) (A)TA T, W (R) 3T |

(D) (A) 3 g, W (R)TAT |

T < Fe {8 T €, U ol ST (A)

31X /Y T HROT (R) T 9 fam T &

AWFT (A) : TR FHT 78T T 5

I A TR € |

FHROT (R) : STEHE % 9 IRE g

mﬁ T TEATHS URE
|

T FeEl & 95y H Hetarad 5

T I AT T 2

N (A sl (R) e # o (R)

A (A :
(A)EI%FI%EIT@[T%I .

(B) (A)aﬁ;g)ﬁw%ﬁ(m,
(A) %W@Tqﬁ%| N

(C) (A)TFE R (R) 8T« |

(D) (A)aﬂr(R)tr%w%|
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29.

30.

T 3t FH T T E, U AT

(A) 3T T A HRT (R) H A9 a1

TN

Ao (A) : Ui SHd &
HRT & TEUTST G % /S I
IS T IR X U & |

HRUT (R) : TR 3R § SART TG
H UG FRA H T U
T T & i |

ST 3 FAT % G W FAfetfEd o

T B AT T 2

&<

(A) (A)Tel g, = (R) Toid & |

(B) (A) 3R (R) I el € |

(C) (A)Tod &, R (R) Wel & |

(D) (A) 3R (R) I LI € |

e 37 e 53 T €, UH P ST

(A) 3T T B HRIT (R) HT A9 54T

TITIT%':

AMHAT (A)  FeHERHAT H A
G AT ATCA TAFIUT THAIE
FRT A0 HEHIT b SR T
ST o |

HRUT (R) : Geedi &1 U WS
SYHIOT I S | {HAT ST o1
Fifh T 3T Hed HA H
foqeatadT @ Su=iT & urr o |

SUIERT T HIAT o GIH H HEferad §

Y I AT T ?

E 4

(A) (A) 3T (R) 341 ¥ € 3R (R),
(A) =l W&l =T ¥ |

(B) (A) &R (R) 3Hi ¥ & W
(R), (A) =l T&l = F&l & |

(C) (A) T T, W< (R) 3HAT |

(D) (R)TH &, T (A) SHAE |
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31.

32.

33.

34.

Identify the correct sequence of
development of theories in cultural
anthropology :

(A) Multi linear cultural evolution
— Unilinear cultural evolution —
Universal cultural evolution

(B) Unilinear cultural evolution —
Universal cultural evolution -
Multi linear cultural evolution —

(C) Multi linear cultural evolution
— Universal cultural evolution —
Unilinear cultural evolution

(D) Universal cultural evolution —
Multi linear cultural evolution
— Unilinear cultural evolution —

Identify the correct developmental

sequence of economic pursuits

among the following categories :

(A) Fishing — Gathering and Hunting
— Cultivation — Pastoralism

(B) Pastoralism — Cultivation -
Gathering and Hunting — Fishing

(C) Gathering and Hunting — Fishing
— Pastoralism — Cultivation

(D) Cultivation - Pastoralism —
Fishing — Gathering and Hunting

Robert Redfield’s concept of “Folk-
urban continuum” is based on his
study of four communities — a city, a
town, a peasant society and a folk or
simple society.

Identify these four communities and
arrange them in correct sequence to
depict the folk-urban continuum.
(A) Chankom — Marida — Tuski

Diztas

(B) Tuski — Chankom - Diztas —
Marida

(C) Diztas — Tuski — Chankom —
Marida

(D) Marida — Diztas — Tuski —
Chankom

Identify the correct instrumental

sequence as per Malinowski.

(A) Object -  Technique
Cooperation or Tradition
Context of Situation

(B) Context of situation
Cooperation or Tradition
Technique — Object

(C) Technique — Object — Context
of situation — Cooperation or
Tradition

(D) Cooperation or Tradition -
Object — Technique — Context
of situation

Paper-11
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35.

36.

37.

38.

Arrange the following in the

ascending order as far as the

development of evolutionary thought

Is concerned :

(A) Jean Baptise — Darwin — Comte
de Buffon — Stebbins

(B) Comte de Buffon — Darwin —
Stebbins — Jean Baptise

(C) Comte de Buffon - Jean
Baptise — Darwin — Stebbins

(D) Jean Baptise - Darwin -
Stebbins — Comte de Buffon

Identify the correct evolutionary
sequence of the following fossil
hominids :

(A) A. africanus — Java Man -
Neanderthal Man - Grimaldi
Man

(B) Java Man - A. africanus —
Grimaldi Man - Neanderthal
Man

(C) Grimaldi Man — Java Man — A.
africanus — Neanderthal Man

(D) Neanderthal Man - A.
africanus — Grimaldi Man -
Java Man

Identify the correct sequence of the

following geneticists chronologically

according to their contribution :

(A) Sutton — Morgan — Watson &
Crick — Mendel

(B) Mendel - Sutton — Morgan —
Watson & Crick

(C) Morgan — Mendel — Watson &
Crick — Sutton

(D) Watson & Crick — Morgan —
Sutton — Mendel

Identify the correct sequence of cell

components in the ascending order of

their occurrence :

(A) Genes — Chromosome
Nucleus — Cytoplasm

(B) Chromosome - Genes
Cytoplasm — Nucleus

(C) Nucleus - Genes
Chromosome —Cytoplasm

(D) Cytoplasm — Chromosome
Genes — Nucleus

D-07-13



31.

32.

33.

34.

HRIde AFares o Mg o o

HT T&l STHT T |

(A) qgusﬂq HIEh b dl%chlu -
W«suq Hi%%hldcb Sif-cors g
A w«gﬂdeh SISObIH

(B) Wh@ﬁﬁ Hl%ﬂvldch Mg —
-H|°||>I°b gt 3w -
qg{@lq +||<av|deh 5|8°hI~H

©) ®|§<{9|¢| Hl«gvldch dlscth -
e qEplah e -
TH-TE Tl 3Eehrd

(D) wEt® OipaEe  SEEE -
TREE  GiEpaE e -
TH-TEH Tl 3ehr

fr=fefad st o snfaes warar & el

ferepTaTcHes STshH i Ted it :

(A) TSl UHEAT — WUE Ua R —
Tl — TR

(B) URTARYT — Welt — TUE TS TR —
el THEAT

(C) wwe ud PR — Tell qeheT —
TY[EROT — Sl

(D) Wt — UYERUT — HSCA ThSAT —
TE T R

‘AB-ARE FR=Rar &l Jae Ehhee

H SEHRUT GR WEET - TR, e,
TR ST iR i A1 GRel S
Ik 3T TR SN & |

T AN GHSET S UedH Eb‘l 3T oAeh-
TR Feaen feitehd & & o 3%
TEl TR | e Hifed

(A) =W — ARET — T — feve™
(B) T&H — T — feve™ — AT
(C) fevem — 2Tl — T — ARET
(D) =RET - feve™g — <= — 9

AfeToRah! o TR Wl T 3ThY

! e L |

(A) TE — THAE — TEAT AT IR
— ferfa =1 Ty

(B) T&af & WEW — WM AT AR
— T — T

(C) dhiih — a&] — feafq =1 g —
TEIRT AT IR

(D) I AT WERT — K] — dFAEH
— ferfa =1 Ty

D-07-13

11

35.

36.

37.

38.

ST 7% S faereRT & faer 6

Ty € fefaiEd o e e o

AT H

(A) SH dwREST - Sifad — &
TET — Ll

(B) HE T T%A — T — Rfag —
S J9eTes

(C) R T IFT — S JUeRST -
gifa — R

(D) S SuerET — ST — Rfe -

T aET
FrAfeiad Siared gied & W@l
Sfgeprg ST Fared
(A) T STRSFE — SEr 9Ee -

fetietaet aHe — UHee! are
(B) STl HHE — T ITRGHE —
TTee! e — Fetietee are
(C) WHeel 9Hd — e "FG -
T, 3TRIHHY — Fatietas g
(D) TTETIeT OFE — T, 3TRIHHT —
HiTes! 9 — STar Jd
Fefoiiad TFares fas= o e
TR 37 SHICTShIeh ShH H AT Y -

(A) WA - TEE - FeEd TS hE -
Heo

(B) WeA - WA - AFA - dREA
=

(C) =R - Hed - a=eE" Ud b -
NER

(D) deEd wE T - AFF - @A -
Hee

frfafaa T Taeswh & 3% e

% TRl 56 H AT i

(A) ST — HHEEE - FeEd -

(B) T — S — AEReH
g

(C) femd — St - HEEE -
RIECIES I

(D) WEATH — HHEH — S -

e

[N
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39.  Which one of the following pairs is 42.  Match an item in List — I with an item
(A) Bonetools - Homohabilis . Abrlei;[\a_m : Cultulfé_
(B) Earliest — Mehergarh " Kardiner '
Harappan b. E.B. Tylor ii. Cultural Ecology
Phase c. Julian iii. Patterns of
(C) Mousterian — Homo-erectus . gtuee/t\]/ard o ggslit(l:”r?ersonality
D (I:ulturtle ial Mi Benedict structures
(D) Interglacial — Miocene Codes -
a b oc d
40. Arrange the following lithic tool (A) iv i i ii
types in their correct sequence of gg; e v
. i i [ iv
appearance . y D) i v Qi i
I. Point ii.  Chopper
iii. ~ Cleaver Iv. Burin 43. Match the following anthropologists
Codes : with the concepts, they are associated
(A) i [ iv il with: _
(B) i i iii iv List—1 ) List—1I
(C) |V ||| ” | a. Eﬂgumdar 1. Animatism
Oy Wi i b. E. Durkheim ii. Animism
c. R.R. Marett  iii. Totemism
41. Match the following residence d. E.B. Tylor iv. Bongaism
patterns with their corresponding Codes : b d
ractices : a b ¢ |
pract! . A 1 i v
List -1 List— 11 (B) iv i i i
a. Virilocal i. After marriage the (C) i i iv o iii
residence couple settle with (D) i Qi v
the wife’s parents.
b. Uxori local ii. After marriage, the 44. Match the items in List — I with the
residence couple settle with :atrfg\)\'/serl?rorhlscto& Iilvgr?gelsg/l\??t the
husband’s parents List — | g List — 11
c. Avuncu- iii. After marriage, the (Systems of (Communities
local couple may choose Authority) which are
to settle either with associated with)
husband’s or wife’s a. Uni-centric I. The Pueblo
parents Authority System Indians
d. Ambilocal iv. Af L h b. Kin-based ii. Hopi Indians
. Ambilocal iv. After marriage, the Authority System
residence couple settle with c. Non-kinbased ~iii. The Nuer
husband’s mother’s Authority System
brother. d. Village Council  iv. Bushman
Codes - Authority System
Codes :
a b C d a b c d
(A) 1 ive i (A) iv i i
B) i i di v (B) i i i v
C) i v i i (€ i v i
(D) i Qi iv i ) i v i
Paper-I1 12 D-07-13




39. T=feifEd § @ & a1 9 Tel gaferd
g2
(A) 3T R — FEREeH
(B) URMH g8 — HETE

IROT
(C) ARl §&pld - &HI-3RFT
(D) ¥afeaem - WEEEN (3rE
HETA)

40. TrAfafEa gR & qoiE ST 6l
3T W B % Tel ohH H Sared Y
i, SRl (WER)

i, TS

iii. fogmom

iv. SR (ShivTH)
&<

A i i v i
®) i i Qi v
©) iv @i i i
) i @i i v

41, THAfafEd e Ued & 39% 9d

TR ¥ GHTAT HITTT :

-1 -1

a. UqEHs® i, g9 & 9% g

IBEIE) YT o ATT-ToeT o
I @A € |

b. argentie i, foeme % 915 gHdr utq

37T & Hra-fuar & |y
TAE |

c. A iii. fame & @15, gt

ESIIEED Tt 97 afed % HrdT-

ey foem & 919 & &
foehed o el & |

d. Syt iv. fae® % 9, e

e ofe 6t |/ & 9 &
U & T |

0 ol

a b c d

A Qi i v i

B®) i i Qi v

©) i iv i i

(D) i Qi v i
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42.

43.

44,

gA-l H S AE A gl § S R &
e gt SIS X A 5 el @
TE SR T 57 HifoT
-1 I
a. 3TSIEH FMSA i, T&H
b. Sdi. eEeR i, WikHices TR
C. Sifere RHaTE iii. WEpia & e
d. ¥ dffede v, gond ATk
SN
HE:
a b Cc d
(A v i i i
(B) @i i v
€) i Qi i iv
D) i v i ii
gAl-1 H 3 ARl H G-I § & A& ok
Ty gAferd Eﬁ%ﬁ aﬁtﬁ% far et 9
TEl IR A 94T B
-1 -1
(er-fermri) ()
a. SIUA. TEER Q. ST
b. 3. g ii. STaans
C. IRAR. W iii.2eHaR (Fo
fereTam)
d. T eReR v .dmER
HIE
a b C d
(A i Qi i v
EB; v i i
C i I iv i

(D) ||| || iv i

b. -3 ST JOTeAt

C. 3TN MR |1 YTl i
d. 7 9w 9= vomelt i
BT

a b C d

(A vl i

B) i i 0 v
C)y 1 v i
D i I v il

Paper-I1



45.

46.

47.

Match an item in List — | with an item in
List — I1. Use the codes given below :

List— 1 List— 11
a. Classification of i. Ashley
Indian People Montago
b. ‘Ethnic group’  ii. C.S. Coon

term coined by
c. ‘Origin of Races’ ii.S.S. Sarkar

d. Racial iv. W.C. Boyd
Classification
based on blood
groups
Codes :
a b c d
A i i iii iv
(B) ii v i iii
(C) i i i iv
(D) iv i i i

Match an item in List — | with an
item in List — Il. Use the codes given
below :

List— 1 List— 11
a. Subspecies i. Hominidae

b. Family Ii. Homo sapiens
sapiens
c. Suborder iii.Primate
d. Order iv. Anthropoidea
Codes :
a b C d
(A i i iv i
(B) iv i [ iii
© i i i v

(D) i v i

Match an item in List — | with an
item in List — Il. Use the codes given
below :

List—1 List—11
a. Baboon i. Indonesia
b. Hanuman ii. Madagascar

Langurs
c. Orangutan iii.India
d. Lemur iv. Africa
Codes :

a b c d

(A) v i i i
(B) i i iii iv
(C) i i i iv
(D) i il v i
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48.

49.

50.

Match an item in List — | with an
item in List — Il. Use the codes given
below :

List— 1 List— 11
a. Homo habilis i. Raymond Dart

b. Austra- ii. Louis Leakey
lopithecus

c. Gigan- iii. Simons &
topithecus Chopra

d. Java Man iv. Eugene Dubois

Codes :

a b C d

(A) i i i v

B) i i il v

(C) iv i i i

(D) i v ii

Match items of List — | with items of
List — Il and select the correct answer
from the code given below :

List— 1| List— 11
(Name of the (Author of the
Book) Book)
a. Man Makes i. M. Burkitt
Himself

b. Old Stone Age ii. Brian M. Fagan
c. Stone Age Tools iii.V.G. Childe
d. People of the iv.H.D. Sankalia

Earth
Codes :
a b c d
(A) v i i iii
(B) i i i \Y
(C) it i iv i
D) i v i i

Arrange the following ceramic types

in chronological order of their
occurrence :
I. Jorwe
ii.  Malwa

iii.  Painted Grey ware
iv.  Northern black polished ware
Codes :

A v i i i
B) i i i v
©) i Qi i v
(D) iv @i Qi i
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45. g1 H & ARl B GELI H A AR
T gafera i AR A 53wt 9
TEl 3T A T4 i

-1 -1
a. YR % S i weTet
FTEROT =
b. T W T IR i, WLOE. F
fqufee fear
C. 3MRISH 3 g iii.Tq.Tg,
WHR
d. T 9E W emHia v, S .
TSI STTeheoT ElRECy
HE
a b c d
(A i i i v
B) i v i i
C) @i i i iv
(D) iv i i

46. %ﬁﬁlﬁﬁﬂﬁaﬁiﬁﬁnﬁfr
T AT Sife R A9 g et
TEl 3T B 949 Hi

-1 -1

a. STSTT i, @i
b. aRar ii. g Sfgee i
C. 3U-HH iii.oTene
d. 9 iv. dgaeT
S

a b c d
(A Qi i v i
(B) iv i i i
©) i i i v
D) Qi v i

47, -1 ® S WS H G-I H S AR R
T AT Sifs X A9 5 Hrer 9
Tl I AT I BT

-1 -1
a. 59 i, SSHRmE
b. T TR ii. BN
c. I if. a1
d. =R (Fremeeh) V. 3TRIHT
e

a b c d
(A iv Qi 0 i
B) i i i iv
C nioi i \Y
(D) i Qi v
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48.

49.

50.

gl | < oERT A G-l A J AR

T Rl Hir R A 53 e
TRl I I AT DI

-1 -1
a. M gfafer® i, TUE R
b. ST i, T wient
c. ficifutssa i ATeHE e AT
d. STrer Je iv. I ggared
HS:

a b ¢ d
A i i i v
®) i i i v

€) v i i
() Qi v i i

gl § & wel B gel H S ARl %

e gt SIS X A 5 et @
TEI 3T T T BT

-1 -1

(TE& HIAW)  (TEIH B AIEH)

a. B U EHECE i, UH. Sihe
b. 3fice TN T ii. ST T,
c. W TS Tod iii. =T T, =meee
d. dioet i i o1 iv. TaEl Hishteran
S

a b c d

(A v i i i
B) i i i v
©) iii i v i

O i v Qi i
FAfeiiEd gl el TRl &l 37
TR™T (IT 30T) T & HIATHHE HH
o arerd Hifs

G

ii.  #ear

iii,  fafy gee goiis

iv. ST el WERIER JEie
HS

A iv Qi i i

®) i i Qi v
© i i i v
©) iv i i
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